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2. AABC9 ADEF = 29 #
4cm, DF = 9cm ¥ o, EF 9] 2

a = cm



thg 2ol H G AABC O RAFA L F ¢ aAGBC 9
FASA ol
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@ 1lcm @ 3cm @ 4cm @ 5cm ® 6cm



& % DABCD 7 BaAPAEe] B 220 (4 0 = 5 o
Aol mgoleh)

@® AC =BD = 5cm

@ AB//DC, AD = BC = 4cm

® OA = OC = 6cm ,O0B = OD = 5cm
@ AB = BC = 4cm ,AD = CD = 6cm

® <A =110°,/B = 70°, .C = 70°



o2 A H G & aABC 9 FAISAH
olt}, DE//BC ©|1 DE = 10 € djj, BC ¢
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@ 5 @ 10 ® 15

@ 20 ® 25



6. o 1A H G, G2 Z7F aAABC, aGBC o] BAFAl ol
AGG'C = 6ecm? & T, AABC ©] ol & Fstofzt,
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@ 10cm? @ 15cm?

@ 20cm? @ 25cm?

® 30cm?
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@® 45 @ 50 ® 55 @ 60 ® 65
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i A7+ ABCD o4 DABCD = 48, AABP =
6, AADQ = 16 & ©, APCQ ©] HolE Fafoizt.
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